
§·¤æ§ü / Unit-I

1. ¥æçÍü·¤ çß·¤æâ °ß¢ â¢ßëçh ×ð´ @Øæ ¥‹ÌÚU ãñU?
¥æçÍü·¤ çß·¤æâ ·¤è çßàæðáÌæ¥ô´ °ß¢ ÕæÏæ¥ô´ ·¤è
ÃØæBØæ ·¤èçÁ°Ð

FD-517
M.A. 3rd Semester
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ECONOMICS

Paper - I

Economics of Growth

Time : Three Hours] [Maximum Marks : 80

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´UÐ

Note : Answer all questions. All questions carry equal
marks.
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What is the difference between economic
development and growth ? Explain the
characteristics and obstacles of economic
development.

¥Íßæ / OR

»ÚUèÕè ·¤æ Îéà¿·ý¤ @Øæ ãñU? »ÚUèÕè ·ð¤ Îéà¿·ý¤ ·ð¤
·¤æÚU‡æô´ °ß¢ â×æÏæÙ ·¤è ÃØæBØæ ·¤èçÁ°Ð

What is the vicious circle of poverty ? Explain
the causes and solutions of the vicious circle
of poverty.

§·¤æ§ü / Unit-II

2. Üæ»Ì-ÜæÖ çßàÜðá‡æ ÂÚU °·¤ çßàÜðá‡ææˆ×·¤
çÅUŒÂ‡æè çÜç¹°Ð

Write an analytical note on cost-benefit
analysis.

¥Íßæ / OR

ÂýàææçâÌ ·¤è×Ì °ß¢ ÀUæØæ ·¤è×Ì ×ð´ @Øæ ¥‹ÌÚU
ãñU? ÀUæØæ ·¤è×Ì ·¤è ¥æ·¤ÜÙ ·¤è çßçÏØô´ °ß¢
·¤çÆUÙæ§Øô´ ·¤è ÃØæBØæ ·¤èçÁ°Ð

What is the difference between administered
price and shadow price ? Explain the methods
and difficulties of estimating shadow price.
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§·¤æ§ü / Unit-III

3. Ÿæè×Ìè ÁæòÙ ÚUæòçÕ‹âÙ â¢ßëçh ×æòÇUÜ ·¤è
¥æÜô¿Ùæˆ×·¤ çßßð¿Ùæ ·¤èçÁ°Ð

Critically discuss the Mrs. Joan Robinson’s
growth model.

¥Íßæ / OR

âôÜô ·ð¤ Îèƒæü·¤æÜèÙ ßëçh ×æòÇUÜ ·¤è ¥æÜô¿Ùæˆ×·¤
â×èÿææ ·¤èçÁ°Ð

Critically review the Solow’s model of long-
run growth.

§·¤æ§ü / Unit-IV

4. ·¤æËÇUôÚU â¢ßëçh ×æòÇUÜ ·¤è ¥æÜô¿Ùæˆ×·¤ ÃØæBØæ
·¤èçÁ°Ð

Critically explain the Kaldor’s growth model.

¥Íßæ / OR

ÒÌ·¤Ùè·¤ ÂçÚUßÌüÙ, ¿ØÙ °ß¢ âéÛææß ç·¤âè Îðàæ
·¤è âæÏÙ °ß¢ â¢ßëçh ÂÚU çÙÖüÚU ·¤ÚUÌæ ãñUÐÓ çßßð¿Ùæ
·¤èçÁ°Ð

‘Technology change, selection and suggestion
depend on the resources and growth of a
country.’ Discuss.
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§·¤æ§ü / Unit-V

5. çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) â¢ßëçh Üð¹æ¢·¤Ù

(b) Èý¤èÇU×ñÙ ×æòÇUÜ

Write short notes on the following :
(a) Growth Accounting
(b) Friedman Model

¥Íßæ / OR

×ãUæÜÙôçÕâ ·ð¤ ¿æÚU-ÿæð˜æèØ ×æòÇUÜ ÂÚU °·¤
çßàÜðá‡ææˆ×·¤ çÅUŒÂ‡æè çÜç¹°Ð

Write an analytical note on the Mahalanobis’s
Four-sectors model.
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